DESCRIPTION: 4-40 FEMALE SCREWLOCK

MATERIAL SPECIFICATIONS:

0.187 ACROSS FLATS SCREWLOCK: BRASS - C3604, NICKEL PLATED
FLAT WASHER: STEEL, NICKEL PLATED
T LOCK WASHER: STAINLESS STEEL
NUT: ZINC PLATED STEEL
A 4-40 UNC-2B .
0010 - LAOLNCEB TORQUE VALUE: 60 IN-OZ MAX RECOMMENDED
i OPERATION TEMPERATURE: -40°C to 120°C
B
+0.010
PART NUMBER A B PKG
160-000-010R031 0.187 0.312 KIT
160-000-010R032 0.187 0.312 BULK
160-000-011R031 0.187 0.625 KIT
160-000-011R032 0.187 0.625 BULK
‘ ‘ 0.228 REF ONLY
‘ | | 160-000-012R031 0.250 0.156 KIT
160-000-012R032 0.250 0.156 BULK
oo mer oy | D KIT INCLUDES:
' —“AOFLAT WASHER 160-000-013R031 | 0.197 | 0.197 | KIT 1 - 4-40 UNC-2B FEMALE SCREWLOCK
I 160-000-013R032 | 0.197 | 0.197 | BULK 2 - 4-40 FLAT WASHERS
1 -4-40 LOCK WASHERS
160-000-014R031 | 0.197 | 0.236 KIT 1 - 4-40 NUTS
160-000-014R032 0.197 0.236 BULK
0.214 REF ONLY
‘ ‘ 160-000-015R031 0.197 0.323 KIT
160-000-015R032 0.197 0.323 BULK
i@e 4-40 LOCK WASHER
J 160-000-016R031 0.197 0.433 KIT
0.053 REF ONLY 160-000-016R032 0.197 0.433 BULK
160-000-017R031 0.197 0.520 KIT
; ‘ ‘ 0.212 REF ONLY 160-000-017R032 | 0.197 0.520 BULK
— 160-000-018R031 0.197 0.669 KIT
[II]% 4-40 NUT 160-000-018R032 0.197 0.669 BULK
0.062 REF ONLY J

ReFS COMPLIANTT UNITS = inch DO NOT SCALE FROM DRAWINGE
THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: SCALE: SHEET OF REV
THE PROPERTY OF NorComp AND SHALL NOT PAM JENKINS NTS 1 1 9

BE REPRODUCED, COPIED OR USED AS THE N O r" O m
BASIS FOR THE MANUFACTURE OR SALE OF DATE: DWG NO.
APPARATUS WITHOUT WRITTEN PERMISSION. 05/14/2005

160-000-01YRO3Y




